


Question 13 
 
Sample 1 
 
OB = .99 = STD / MAN 
STD = 201,800          Where X = Non Experience Rated Premium 

MAN: A =   56,000        .99 =   STD + X    

    82,000          MAN + X   

    41,000        .99 MAN + .99X = STD + X 

    26,000        .99 MAN – STD = .01 X   

    205,000      X = 115,000   

 

  Mod  MAN Prem  STD Prem       

A  .85  56,000    47,600 

B  .95  82,000    77,900 

C  1.1  41,000    45,100 

D  1.2  13,000    15,600 

E  M  13,000    13000M 

      186,200 + 13,000 M 

1.01 = 186,200 + 13,000 M + 115,000       M = 1.692 

205,000 + 115,000 

Sample 2 
 

Manual Prem = Standard Prem / Mod 

Claim  Man Prem    OB = .99  X = 115000; Mod = 1.00   

A  56000     

B  82000 

C  41000 

D  26000 

X  115000 

 

2nd Year    

 
1.69Y

1151313418256

115Y*131.2*131.1*41*0.9582*0.8556





 

Claim  Man Prem  Mod       

A  56000    0.85 

B  82000    0.95   

C  41000    1.1   

D  13000    1.2   

E  13000    Y 

X  115000   1.0 


